
 
813RD 

TRIUMPH 
Speed Triple 1050 

2008–2010 
Part Nr. 531 

813LB 

818205 

8300 

Between  

8300 a 854 
123220608 

854 

8360 

M8 x 25 DIN7991 

M8 x 20 

DIN7991 

M8 x 50 DIN6921 
+ 807 

M8 x 50 DIN6921 

+ 807 

M6 x 25 DIN7380 

+ 816R   

+ M6 DIN985 
 

 

M8 x 25 DIN7991 

M6 x 12 DIN7991 M6 x 35 DIN7380 
+ 817 + 123121406 

+ M6 DIN934 
+ LOCTITE ! 

 

 

810R + 

M6 x 25 DIN7991 

 

870 

819M6L 

M8 x 20 

DIN7991 


